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QUESTION 1

Refer to the exhibit.

public class ClientServiceImpl implements ClientService(
gTransactional (propagation=Propagation. REQUTIRED)
public void update() {

update2() ;

t
ETransactional (propagation=Propagation.REQUIRES NEW)
public void update2 () {
}

Assume that the application is using Spring transaction management which uses Spring AOP internally.

Choose the statement that describes what is happening when the updatel method is called? (Choose the best
answer.)

A. There are 2 transactions because REQUIRES_NEW always runs in a new transaction.

B. An exception is thrown as another transaction cannot be started within an existing transaction.

C. There is only one transaction because REQUIRES_NEW will use an active transaction if one already exists.

D. There is only one transaction initiated by updatel() because the call to update2() does not go through the proxy.

Correct Answer: D

QUESTION 2

Which two statements are true regarding a Spring Boot-based Spring MVC application? (Choose two.)
A. The default embedded servlet container can be replaced with Undertow.

B. Jetty is the default servlet container.

C. Spring Boot starts up an embedded servlet container by default.

D. The default port of the embedded servlet container is 8088.

E. Spring MVC starts up an in-memory database by default.

Correct Answer: BC

Reference: https://www.javatpoint.com/spring-vs-spring-boot-vs-spring-mvc
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QUESTION 3

Which two statements are correct regarding the @EnableAutoConfiguration annotation? (Choose two.)
A. It is a meta-annotation on the @SpringBootApplication composed annotation.

B. It enables auto-configuration of the ApplicationContext by attempting to guess necessary beans.

C. It is meta-annotation on the @SpringBootConfiguration composed annotation.

D. It has the same effect regardless of the package of the class that is annotated with it.

E. It ensures auto-configuration is applied before user-defined beans have been registered.

Correct Answer: AD

Reference: https://docs.spring.io/spring-boot/docs/current/api/org/springframework/boot/autoconfigure/
EnableAutoConfiguration.html

QUESTION 4

Which two options are valid optional attributes for Spring\\'s @ Transactional annotation? (Choose two.)
A. isolation

B. writeOnly

C. nestedTransaction

D. readWrite

E. propagation

Correct Answer: AE

Reference: https://learningviacode.blogspot.com/2012/10/attributes-in-springs-declarative.html

QUESTION 5

Which two are required to use transactions in Spring? (Choose two.)

A. Add @EnableTransactionManagement to a Java configuration class.

B. Annotate a class, an interface, or individual methods requiring a transaction with the @ Transactional annotation.
C. A class must be annotated with @Service and @ Transaction.

D. A class requiring a transaction must implement the Transactioninterceptor interface.

E. Write a Spring AOP advice to implement transactional behavior.

Correct Answer: AB
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Reference: https://www.baeldung.com/transaction-configuration-with-jpa-and-spring
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